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GUESS PAPER-2010
CLASS-XII
SUBJECT- Mathematics
(i) Find  dy/dx
1. y=tan-1
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2. y= tan-1
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3. y= (logx)x  + x logx 
4. y= (x) cosx + (sinx)tanx

5. 
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6. y= 
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7. x=
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8. y= (xcosx)x + (xsinx) 1/x
(ii) If y= tan -1 x, show that (1+x2) 
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(iii) If xy = e x-y , prove that 
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(iv) If x=a((- sin( ) ,y=a(1-cos( ) , find dy/dx at ( = (/2
(v) If x= a 
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 and y= 
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(vi) If y= 
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, show that (1+x2)
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(vii) If x= a
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, y= asint, show that dy/dx=1 at (/4

(viii) If siny=xcos(a+y), show that 
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(ix) If siny=xsin(a+y), prove that 
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(x) If (x-a)2 + (y-b)2= c2 for some c>0, prove that 
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is a constant, independent of a and b.

(xi) If x = 
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(xii) find 
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(xiii) Differentiate  sin2x  w.r.t  e cosx
(xiv) Given that 
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(xv) if 
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